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AleftS
Ah(UdEA) Z(4HEH)
3 "R TPIA(EEZIR) | SHE(%) = G TIPIALEIR) | SEHE(%)
}i oH ctol 1=01% TH| crol 1=01x
— oa T a8uw Z."_:I [ o= T 8w Z."_:l
ol (5/20) | (5/13) | - cictHl Cio| (5/20) | (5/13) | © ACHH|
=il 20kg | 49,180 | 49,180 | ® 10.5 20kg | 49,180 | 49,180 | ® 10.5
! VHRH | 19 | wma | muge 0 R | 19H | 9mue | mucg)
49,180 | 44520 | 39680 | 4 232 49180 | 44520 | 39680 | 1 232
D0HYn ZAK4:0])
3 i SPIA(ME7IR) | SSHE(%) = G SPIA(LE7IR) | SEHE(%)
mOp | ome | FUA | Lo : BOp | ome U | Lo
W W me | (5720 | (513 | 22 \ ol | (5720 | (513) | 22l
( - 10kg | 37,400 | 36800 | § 153 ' 20kg | 47,000 | 42,400 | & 138
- A | 19 UM | EChd| T7HEH | 19 U | G|
35850 | 44150 | 30227 | ® 237 57750 | 54500 | 49933 | & 59
pl En=
= (EF) Sl
= Y@ SIPIANEZIR) | S=HE%) = IR TIPHAEEZIR) | S2HE(%)
mop | g [ 1zem | L B | HY 1YY |
ool | (5/20) | (5/13) | I ool | (5200 | (5/13) | St
10kg | 4,600 | 3,600 J2 ¥ 8g | 6900 | 4500 |1 30.2
1748 149 mE | mEchd| N’ 7hHed | 1@ UHA | U]
3,340 - 7544 | § 390 4050 | 5300 | 5420 |* 273
RO|(CICPIAIS) oSt
3 "R TPIA(LEZIR) | S2HE(%) = IR TPZHALEZIR) | S2HE(%)
oy BE 17y ol R = PR
crel | (5/20) | (5/13) | 220l crel | (5200 | (5/13) |22t
10074 | 24,000 | 29200 | & 298 = 207 | 9200 | 12,200 | # 499
ViEd | 19H | amy | sy : hgd | 19H | amd | Sy
32833 | 34167 | 27078 | & 114 12150 | 18350 | 12,063 | & 237
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Hnx(3H) Enx
43 Y7 DUPHEEEZIE) | SEHE%) 3 H2 PR EIE) | S2HE(%)
mop | gy 13U | . my | gy 139 | .
ool | (520) | (513) | Dol Gol | (5720 | (513 | el
60kg | 1,147,200 | 1,147,200 | § 0.2 10kg | 47,000 | 49.400 |4 27.7
PHEM | 19 | gmd | ek PHEM | 19 | Ymd | TECh|
1,147,200 | 1150000 | 723333 | £ 5856 35,300 | 36800 | 41,333 |+ 137
ofs(Ztats) ot
43 Y2 DPAREEZIE) | SEHE%) A= F2 PR EIE) | S2HE(%)
- my | gy | 1FeM | ' my | gy | 13eM |
col | (5/20) | (5/13) | el \ ool | (520 | (s/13) | Akl
20kg | 135,000 | 135000 | § 6.9 9 20kg | 11,800 | 13300 |4 1486
PHEM | 19 | omd | EChy| - 17HE™ | 19™ | d3d | "Echy|
135,000 | 145,000 | 145,000 | & 6.9 19,740 | 16,050 | 14550 | & 189
- i CHt
A3 B IPHAREIR) | SHE%) A3 B ZPHAYEZIR) | SHE(%)
3 | Ty TY | 1A Ty TY | 1A
NP ool | (5/20) | (513 | Sl i d ool | (5/20) | (513) | Sl
{ 20kg | 32,200 | 32,200 |+ 92.5 ¥ kg | 1,580 | 1,290 |4 105
j PHE™ | 19 | Ld | ) 1HE™ | 19™ | dEd | "Echy|
30,450 | 35550 | 32757 | & 1.7 1150 | 1,430 | 1634 |& 33
mza|3} Q|
A3 B TIPHALEIR) | SHE(%) A3 B ZPHAYEZIR) | SHE(%)
_ | FY | 1FYY | Ay oy e | 1F2Y | Auo
w el | (5200 | (513 | Sal el | (5200 | (5113 | Dol
A Skg | 17,400 | 20,400 | § 202 2kg | 12,800 | 13,400
PHEM | 19 | gmd | EChy| PHEM | 19 | Yd | ECh|
21,800 | 21,800 | 19,837 | & 12.3 14500 | - | 14320 | & 106
B0 U2 EOIE
43 Y7 DPHAREE7IE) | SHE%) 3 F2 ZPHAEEIE) | S2HE(%)
e B R ELY TR mOp | Y [ 1RYM | L
s ’ EL?'I (5/20) (5/13) == H I II:_I-$| (5/20) (5/13) [y H |
@' 10kg | 17,800 | 20,800 | & 19.3 5kg | 16,600 | 19,000 | & 11.0
HEH | 193 | dd | i) PHEH | 19 | Ly | W)
28,000 | 22,050 | 22,060 | & 19.3 24100 | 18650 | 17,277 | & 39
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nHE S8ag
AMIHBR]) ZEH(4HAH)
D WA COPIEAEIR) | S2H8(%) . V3 P SRS IR) | SHE%
|
% m | PY | 1RYH | . amf o B 1REEH | i
= cel | (520 | (513) | 2ol cel | (5720 | (513) | dh
10kg | 40,800 | 42,600 | & 68 - 30kg | 499,200 | 499,200 | * 0.2
vhes | 19 | omd | maoe VHgH | 19y | gmu | gy
37,950 | 38,2200 | 41,042 | & 06 496,200 | 498,000 | 524,667 | ¥ 4.9
HH(A1T) LEf2|tH4
A LR SOPIAAETIR) | SHE(%) M= B2 SWHEEEVIR) | SHE%)
- m | g | 1o o B IFEE | g
' tel | (5200 | (5/13) | 2ol ool | (520) | (513 | ol
2 15kg | 53,400 | 53,800 | * 1086 2kg | 12,600 | 12,800 | ¥# 63
THEM | 19 | dmd | e PHEY | 19 | Ly | iyl
49,150 | 35950 | 43,133 |+ 238 12,600 | 13,450 | 12,607 | & 0.1
2y Ali&-oltHA
42 WA SIWHAAEIR) | SUE% = B3 SIPIH(AE0IE) | S2E(%
| Y IFUM | o - i I N v
cre] | (520 | (5/13) | SoHil LT me | 520) | (513 | 2
10kg | 31,200 | 31,200 2kg | 7,200 | 7400 |§ 83
HEH | 19 | Umd | ) HEH | 19 | YmE | mcy|
35,500 - 30,800 | ® 1.3 7,600 7,850 8070 |¥# 108
SME (L0471
2|117|(5t2-54) EHA D7 |(&4E4N
= WA SIPIHAEIR) | S2UE% = W3 SIPIH(AEIIE) | S2UE(%
ool | (520 | (513 | Dol ool | (520) | (513) | Dol
% / 100g | 7,984 | 7906 |4 0.1 100g | 2,015 | 1,988 (4 99
. THEH | 19 | Umd | | THYA | 19y | Ymd | Ty
7,828 7,980 7165 | * 114 1,944 1,833 2041 | § 13
51| AzHER
= WA SIPIHAEIR) | S2UE% = WA SIPIHAEI|R) | S2UE(%)
e I TR -7 T - e I TR -7 Y -
ool | (520 | (5113) | 9T ool | (5200 | (5/13) | 2ol
1kg 5,392 5107 |4 133 3074 5137 5297 |* 185
T T obed | 1am | gmd | muc Vhed | 19d | wma | mc
5,208 4757 5401 | &§ 0.2 5,186 4335 5813 | & 116
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ZAE(L047H)

(e )Xo
TIr
A3 B ZPIA(YEZIR) | SHE(%)
Ty | YY1 |
el | (57200 | (513) | el
MILK 1L 2618 2622 |1 41 X 1HEHE, 1892 HF LR 7|F 5€ Ol 7H4 Y
TUHe sHZE RQ) S0 he Angknt AAS Rl
PHE™ | 19 | Ld | ] 3 HEYY
2622 | 2516 | 2541 |1 30 AR EX:aT KAMISEHR LA ERESA)
= 0Ol =AIS
I & FAE ARAAA|
(2019. 05. 20. 7|& /&2l : &)
5t2(22/600kg) StQ-5OR|(2l/6~78)
o 3R HR | SEE(%) o 3R BR | um SUE(%)
=1 2 | KA | S |z vyl B £ B < B b == T P TE T
” o | 5447 |5447|5655| 00§ 3.7 Y oF (326432663248 |8 0.1|% 05
7MI| 7,015 | 6,871 | 7,041 |1 2.1 |8 0.4 4 14,028|4031(4047 |8 01|18 05
2-2(22/600kg) HALEOR|(M/7UH)
3K | A | 19 3K | B | 1ad
3,394 3,271 3,518 We ¥(°, 437 435 291
MzCHH] | AEChy| U o zCH] | AECHy|
sa2s ou s2s
+ 38| &% 35 + 05| * 502
EHRI(22l/110kg) SA(2/kg)
2k | W | 19 2k | W | 1ud
.~
387 384 408 3 1,240 1,375 1,172
MO | AUy q’ oy ||
il - Egll-E Egl-aty
°7= 1 ¢ 08| & 51 o= Y 9g |t 58
AzH/E2H07H) 2 2|(¥/kg)
31 | A | 14 31 | Ay | 14
925 968 758 - 2,200 2,200 2,155
ECHH| | AChy| o ZCHH| | AChy|
Sus SAS(%
°= |8 44| 1 20 o= 00 | £+ 21
AR A HEHLE ZAEMT}
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